WORD PROBLEMS - TWO STEP

1. Wiliam lives 15 miles away from
school than james. james lives 2
miles away from school. they both
rides to school 6 days a week. How
much more does william rides than
james in a week?

Henry wants to buy a sports bike
3. that costs $500. he has a savings of
$ 140. he makes $60 in a week. if
he does not spend any of the
money, how many week will it take

before she can purchase the sports
bike?

6. There are 35 chocolates in a
box. how many boxes will john
need to distribute to 105
children?
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